GENERAL SCIENCE — MOST IMP QUESTIONS/ SAMPLE PAPER -12

1. A gamete contains which of the following?
Teh oA H e Tl H & leT ATGIATE?
a) Both alleles of a gene / &It T ST
& Tolled
b) Only one allele of a gene /U SilsT
T Shd ol Ueh Tellol
c) All alleles of a gene / Ta Sitel & Y
Telled
d) No allele of a gene/ IS i &r
Toirel oTer

2. Which one is not vestigial in human beings?
HIST H hleT AT AT L1 67
a) Plica semilunaris/ Toereht ARG
b) Coccyx / PraFEFH
c) Wisdom teeth / 3/&hel GIS
d) Epiglottis / T alifeq

There are a total of 180 vestigial organs in the
human body.

vestigial organs mean the organ that lost their
function. the appendix, the coccyx (tail bone),
and the tonsils. Body hair, wisdom teeth,
nipples on males, nictitating membrane of
eye, tonsils are also the vestigial organs of
humans.

AT RN H Fel 180 HGAT 3797 &Y &
37GANT I FT AdelT dg 39T § fordel e
S @ & g1 3rdTsed, dleded (q5 H
g39)), 3R e R W a1, 379 g,
&St & Aued, 3w &1 fAfFeeféar Bed,
cifeaet o Aepsa & raendt 37 €

3.The material which hardens the cell walls of
sclerenchyma tissues is

TE UCTY SiT TFoReehISHT Faieh! Y ShITRTeT AR
B TET IATE, TE

a) Actin/ tfdesT

b) Lignin/ feifdeteT

c) Cristae/ BT

d) Tubulin/ g

THE THREE BASIC TYPES OF PLANT TISSUE

cell walls with lignin

Sclerenchyma Tissue

Parenchyma Tissue

Collenchyma Tissue
a lengthwise
b cross section

4.The size of red blood cells (in diameter) is
TSl TeFcT SHTOTSRIAT T TR (ST ) BT &
a) 10um
b) 8um
c) 12um

d) 5um
" SHAPE AND SIZE

* Normally disk shaped &
bi-concave.

* Central portion thinner
and periphery thicker.

» Size: Diameter = 7.2
(6.9-7.5 W)

Thickness=

* Atperiphery=2.2 p

* Atcenter=1p
5.The type of connective tissue is o
HATSN Fcieh I TR &

a) Adipose tissue/ adT Fdh

b) Squamous tissue/ TFIFT Fcih

c) Cuboidal tissue/ OeThR Fdeh

d) Stratified tissue/ TR Fcdh

ANIMAL TISSUES
|
I I 1

Epithelial Muscular Connective Nervous

|
[ I I T 1
Squamous  Cuboidal  Columnar Ciliated Glandular

(flattened)  (cubical) (tall (with (with
or cilia) secretory
Pillar-like) function)
[ I 1
Striated Nonstriated Cardiac
[ T | I | 1
Areolar Dense Regular Connective Adipose Skeletal Fhuid
Tissue (Vascular Tissues)
Tendon Ligament [ | f
Cartilage Bone Blood Lymph

Hyaline Fibrous  Calcified
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6. Water is usual as coolant in the radiator of
a car engine because it

FR Soie F BT F UTe ATHT T & 33T gl
¢ Fifh T

(a) Has low boiling point / &8 Fa2Ta §

(b) Has low density / Blca S &

(c) Is easily available/ 3T ¥ 3UclsY &

(d) Has high specific heat / 3= faferse Fsar
glaT g

Water is used as a coolant in automobiles
radiators because it has high specific heat
capacity. So, it absorbs a large amount of heat
for a degree rise in temperature.

7. Which one of the following substances has
greatest specific heat?

frafafaa 7 & o gere # aew sifes fafdrse
FEAT I g7

(a) Water/ 9r=it

(b) Mercury / 9RT

(c) Iron/ 3T

(d) Copper / 19

8. The endocrine gland nearest to heart is-
3 4Tdr AT e & Fad foiehe o-

(a) Thyroid/ d=—RT1S3

(b) Testis / gsoT

(c) Pancreas/ 3a=amR—A

(d) Thymus / aIsHAT

9. Kilowatt is a unit to measure

freiaTe ATIe &Y U SES ¥
(A) Work/ar¥

(B) Power/ 9rax

(C) Electricity/ fSstelr

(D) Current/aT_T

10. A fertilized egg is known as -
3dRa 3T fFa e &2

a) Zoospore/Gj:Fq’I'\r

b) Zygote / JIHAST

c) Conidiospore / FifafsaEar
d) Oospore / 3¥AR

Fertilized

Egg
(zygote)

11. Which part of the cell has the genetic
material and is often called the "brain of the
cell"?

hITRIeRT & fehdt T ed 3 3eTaiiRIeh qerd gl & 3R
S T " FIfRAPT T ATETSH" gl SATATE?

a) Nuclear membrane / shogah Sreell

b) Ribosome /IrSaTATH

c) Nucleolus / g el 3Terd

d) Nucleus / hegah

We can say that the nucleus controls the cell
and acts as the brain of the cell. The Nucleus
is the control center of eukaryotic cells which
is responsible for the coordination of genes
and gene expression.

12. Which of the following is not used as the
dental filling?

ARRT o PR T T IRAT F &I H
STer fohaT ST 872

a) Zinc/STEar

b) Sorel’s cement / @Rl &l JIHT

¢) Zinc oxychloride/ fSish 3iaiFaRTSs

d) Gold/3Mes

13.Which gas is dissolved in soft drinks?
SfieTel O & aleT A I el Bl 82
a) Nitrogen /ATSgISTeT
b) Carbon di oxide /T STS3TFATSS
c) Ethylene /Tl
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d) Acetylene / TfafceleT

Dissolved carbon dioxide is carbonic acid,
which adds a pleasantly acidic flavor and an
interesting mouth-feel.

14. Which of the following is not correctly
matched ?

fFrafafEa & d o g gafaa g g2
a) Iron-Haematite/ 3RRA-gATCISC
b) Lead-Galena/ @3- ek
c) Aluminium-Bauxite/ Teg AT -

v

SrFaTST
d) Magnesium-Malachite/ FHITAFATH-

Hoerse

Malachite is an mineral of copper

Mineral Formula % copper
Cuprite Cu,0 See question 2
Chalcocite Cu,S See question 2
Bornite CusFeS, 63
Malachite CuCO;Cu(OH)4 58
Azurite 2CuCO3Cu(OH)4 55
Chalcopyrite | CuFeS; | 35

15. Which metal gets covered with a
protective film of its own oxide?

et &Y T 319 € JHTeFATSS hT GRaTIcHeh thor

A TH A 6?2
a) Al
b) Cu
c) Ag
d) Ca

Aluminium in air is ordinarily protected by a
molecule-thin layer of its own oxide. This
aluminium oxide layer serves as a protective
barrier to the underlying aluminium itself and
preventing chemical reactions with the metal.

16.Why is nitrogen molecule chemically less
active?

SATSEISIeT 3] AT (eTeh & & o Fishay Fal & ?
(a) It has small atomic radius / SH&T BIeT
AT AT

(b) It has high electronegativity / 39& 3T
faegeh #eoTE

(c) It has high dissociation energy/ 38 3Ta
Aaca FaTg

(d) It has stable electronic configuration /

SHHT AT SolagIfeleh [deaTd &

17. A batsman hits a ball with a force a5 N.
What force does the bat experience?

Teh Seoldlol 3G 3T 5 N 5 T ARAT & | Tooll fohdl
T T 37eT3TT FAT 52

a)5N

b) 10N

c)15N

d)20N

From Newton’s third law we know that for
every for every action, there is an equal and
opposite reaction. From this we can say that
the bat experiences a force of 5 N.

18. What is the correct expression for power?
oIfFd & foIT TgT ot T 2

a) P =dw/dt

b)P=Fxd

c)P=E

d) P=dE /dt

Power is defined as the rate of change of
work. Hence, P = dW/dt. Instantaneous power
= Force x instantaneous speed. Average
power = total work / total time.

19. With the rise of temperature, the velocity
of sound -

JTIHATT o §Go1 W &afel &7 39T -
a) Decreases/ FHEI STATE
b) Increases/ S&dTg

c) Remains the same / THATH AT &
d) Isindependent of the temperature/

ATIHT & TIAT el &
The sound velocity is directly proportional to
the increase in temperature because as the
temperature increases the air molecules
starts vibrating at higher amplitude.

20. Coinage alloy has the following
composition

&erent T4 g A e fEa axaer g
(a) Ag + Cu + Ni

(b) Cu+ Ag + Au

(c)Au+Zn + Ag

(d)Ag+Fe+Cu
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21.In the human body, Cowper's glands form
a part of which one of the following?

AT RR H, FER AT AT Aefaf@a s a
foraerr v feea 82

(a) Digestive system / 9rael dF

(b) Endocrine system / TSIl d

(c) Reproductive system/ 9sielel a

(d) Nervous system/ df¥err d=

Bulbourethral gland, also called Cowper's
Gland, either of two pea-shaped glands in the
male, located beneath the prostate gland at
the beginning of the internal portion of the
penis; they add fluids to semen during the
process of ejaculation

22. The blood vessel supplying blood to the
kidney is

& Y TR Y T XY ATl T aTfeart &
a) The renal artery / e =11

b) The hepatic artery /fgqiTee Ta=ir

¢) The pulmonary artery / GeEIRT €HAT

d) The carotid artery / #RIfes &=

The renal arteries carry oxygenated blood to
the kidney, it may amount for a total if one
third of the total cardiac output.

Renal cortex

Renal medulla
Renal artery Renal papilla

Renal vein

o

Il

Renal pelvis \ y

Ureter/

columns

>~ Renal

Fibrous
capsule

Kidney Anatomy

23. Increased RBC ‘s in the blood leads to a
condition called

T H Tl TFd FITARIIT T TEIT o Tged Sl
FATHET g ?

a) Anemia / TlTT&T

b) Haemophilia / AT

c) Polycythemia / gfeiraraAf&=aT
d) Leukaemia / egehiaaT

Polycythemia is a condition that results in an
increased level of circulating red blood cells in
the bloodstream. People with polycythemia
have an increase in hematocrit, hemoglobin,
or red blood cell count above the normal
limits.

Some people might develop vague symptoms
such as headache, dizziness, fatigue and
blurred vision. More-specific symptoms of
polycythemia vera include: Itchiness,
especially after a warm bath or shower.
Numbness, tingling, burning, or weakness in
your hands, feet, arms or legs.

Fo del 7 FRES, T 3, g 3R
gerell TS S 3Fse oeToT fashfad &
Tohd &1 denfadfdar o & fae fafere
LI F AAST §: Goroll, [T &7 § 187
AT AT M & TG | H9F g1y, W, g a1
TEN & Gooldl, ST, STelel AT HASNT|

24.Device used for the detection and
measurement of all types of radiation (alpha,
beta and gamma)

ot 9o & TafeReoT (31, st 3R amreT) &t
T ST 31R 3Ah AT o forw Uit fohar Sier
ITET 3TRIUT hleTaT & ?

a) Geiger counter /IMRHI3X

b) Polarimeter /ArenReex

c) Calorimeter /FaRHeT

d) Radiometer /Xf3aHI

A Geiger counter is an instrument used for
detecting and measuring ionizing radiation.

25. Which one will change from red litmus to
blue?

et AT ool TolcHT & ATell gl SITuam?

a) NacCl

b) HCI

c) KOH

d) LiOH

Since HCl is a base it turns red litmus to blue.
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26.Which Biomolecules simply refers as “Staff
of life” in the given macromolecules?

T 1T AshrATer I od # e AT aRATATF o H
Fdel "TTH 3T TSP & F9 H T AT &?

a) Protein/ 9iélal

b) Lipids/ ferfas

c) Carbohydrate/ Frefgsse

d) Vitamins/ [aerf&eT

Carbohydrates belong to a group of complex
biomolecules commonly regarded as the
“staff of life.” They are the most abundant
organic compounds in living organisms and
are among the four major classes of
biomolecules. During photosynthesis,
carbohydrates are produced from the
reaction of carbon dioxide with water.
Carbohydrates go by several common names,
including sugars, starches, saccharides, and
polysaccharides.

27. Milk converts into coagulated milk or curd
with the help of enzyme.

TR Ut & FROT G &1 Gl 7 IRacie glar §?
a) Renin / X&eT

b) Pepsin / aftasT

c) Resin / XTSteT

d) Citrate / Rce

28. Viscosity is said to be internal friction
between fluid layers. What type of force is it?

QITAT & TRl & ST AR TIUT FHgeTar & |
Tg A PR AT 8?

a) Electromagnetic/ faegadsshra

b) Gravitational/ J[&carehyoT

c) Weak Nuclear forces/EFHGﬂTCIWTUIW

d) Strong Nuclear forces/ AT GIATI] ST

At the contact surface of two bodies (here,
fluid layers) molecular bonds are formed.
When there is relative motion between them
these bonds try to oppose it. This is how
friction works. Therefore we can say it is an
electromagnetic force as molecular bonds are
considered to be electromagnetic forces.

29. Which of the following is deviated by an
electric field?

e # & =l ar faegd & gart faufed
forar ST asarg?

a) Alpha rays /37T fohgoT

b) Gamma rays /3T fROT

c) X-Rays /uaq - ot

d) Neutrons/Fq@U?r

Alpha particles, also called alpha ray or alpha
radiation, consist of two protons and two
neutrons. They are generally produced in the
process of alpha decay.

30. Ethyl alcohol obtained by fermentation of
starch or molasses is called wash, and what is
it’s purity?

T AT 2R o TohuasT & 9Ted Uidier 3Teehlgd I

amer e ¥, 3R SHHT e FATE?

a) 15%

b) 99%

) 99.9%

d) 95%

The alcohol obtained from molasses is called
“wash” which contains the low percentage of
ethyl alcohol (15-30%).
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